ERRKRDHES

ERT—IN—2IBISH—F

202455838 (&) 20fatE5H

,“ W \CEEVEVHEHTTESR C271 U5R—MK BRI
[xE<] 1 & :1,000,000 . 23 :400,000 . 33&:250,000 4 3&:150,000 9 . 5 & :100,000 /3
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
< REME : -2-2- - INRIRE (GRIFD)
1 3| h—tv291IL B4 e 1.({)).1 2-2-2-2 | 41.5 6 21:363) i
RIRIIRY BRIAIWTYRISR BREHH IRTAT7—L
So 4 5 | AHEE 1:40.7 1-1-1-1 | 42.2| — 1 483 | BHESE (o)
20811 Ea—TLA K 54.0 3) () |TWEIF
RiT4 I RD—LEY B:TUUY 2I95T7—L
— N BAIRIE : -6-6- - e (i
318l =EF/vFUT 36 ) 1.{131).3 5-6-6-4 | 42.1 2 fsz) %;§§%¥ )
R:TFAIWNIPFY— B:YFUF—F FER S R
- =~ . BEE : -9-7- - SHIEX (#Ef)
417110 /)57 AhATT i 4 56.0 1'6121)'7 $78 1423 : (4_6; EHESE
R:STU—FA §:ZYJAR—U— %t
r=S Y vy 7 | PE 1:42.0 3-3-3-3 |43.4| - 9 517 | M4 (#618)
g 4 TSA A=V vY 7 A53.0 (1172 2 | ) LvIz
RIXIVIATFawIDAUT— BN\VILVE—HY e
> o 3 LTS : -5-4- - MEA (fiots)
6 NPT v 4 D (11412/23) 8-5-4-9 | 43.5 4 (5_112) e |
R:5=Z B:h—EY7—h HHE BE
R = t 8 | =R} 1:42.4 6-7-9-7 |42.9| - 7 459 | FHEE ()
717219 | DAV RATFIL 8 i P
RTFAIWNIPFH— B:ESUY FEER Y R
~) ) P— 44 | BATHIA 1:42.4 7-8-8-6 | 42.9| — | 11 | 444 |EEBEA CHAD)
8l111|7#YT—XN=7T .0 &) (e |BE—S
R:FIIUITIVR Bib—tYhF—F B 77—L4
; B4 | ARIREES 1:42.6 12-10-10-10| 43.1| — 5 | 497 |{EAAEER (H648)
9|5|6| 7197 $55.0° (3/4) “1 REEEL
RINMVTSY BILEZEVR YAALT7—L
2 EIHHREAH : 11-12- - 52
1 o FAESEN=PPi i o4 549_%5& s 1(7425: 11-11-12-11| 42.3 12 (4+532) ?j.ﬁj (a8
RiFARIU—bFry bk B:VIWIRIAY— HEEAKS
= 4 | PERES 1:42.7 4-4-5-5 | 43.5| — 10 | 466 |PIHIEHE (BotS)
1Bl 2 | 717516 * 56.0 (1/2) ) | FAITTVI=FS5AR (i)
RN/ UwFk— BRAR—TVT7— TURUKIS
o — ~, HEHER : -12-11- - SlREE (o)
15| 5| 1t—F 1 —F22 L i 1.{1{;4).3 10-12-11-12| 44.2 8 21511) EK? A
Ry d—=F)VIIT B:N\YvE—N—F 41— BIRE *i KIERF—=TIL
@ 11— —®BIEfI
10—+— 11,3,4,2,12,9,1,8,10,5,7,6
20—F— 11,3,4,2,8,12,9,1,10,6,7,5
30—7— 11,3,4,8,2,12,10,1,9,6,5,7
43— — 11,3,4,12,2,1,9,10,8,6,7,5
o ILRE
B B 3 1,140 JA R 3-1 840M4 % 3= 3-8 1,320 3EE 3-11-12 3,480M
7B B 3 280M 3-12 920M B 3-8 2,950 3EH 3-11-12 26,180
1 150 11-12 400/ /B & 31 2,310
12 1504 =51 3-1 5,690H
ABCDOVTIRHTERERRODDZ, THERAILZETL




